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ENGLISH VERSION

1 Avani Ltd. is considering the purchase of new machine. 14

| The cost of the project is Rs. 5,00,0{)0 and there is not only
scrap value. Tine estimate age of machine is 5 years tax rate
for the company is 50% and company will be depreciated on
a straighﬁ line method cash flow from the investment is given

below before tax and depreciation :

Year............. Cash flow
1o 1,00,000
2 e, 1,10,000
B e, 1,40,000
L O 1,50,000
B eeeeeeencnereseeans 2,50,000

Decide profitability under following methods :
(1) Payback period method
2) Net present value method
(3) Accounting rate of return method_
"~ (4) Profitability index
Discount factor at 10%
0.909, 0.826, 0.751, 0.683, 0.621

OR
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1 Shri Ram Ltd. is considering purchase a new machine
Rs. 1,560,000 which estimated life is six years. Rate of income
tax 1s 50%. The cash flow of machine before deduct taxation

is as follows :

Year ‘ Cashflows

L 26,000

2 32,000

E 2O SR 60?000

AR 50,000

B e 80,000
6 e 100,000

Taking present value of Rs. 1 on 10% and 12% evaluate the

project according to following methods :
(1) Average investment method

(2) Internal rate of return method

2 X Ltd. aﬁd Y Ltd. both companies belong to the 14
‘homogeneous risk group. Both companies are identical in all
respects except that X Ltd. 1s a levered company while Y Ltd
is an unlevered company. The capital structure of leavered

company X Ltd. 10% debentures of Rs. 6,00,000.
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Total assets of both the companies are Rs. 20,00,000. The rate
of return before Interest and taxes on capital employed of
both the companies are 15%. Assuming that the capital
markét is perfect and investor behave rationally. Tax rate

1s 50% and the rate of equity capitalization is 15% calculate

(1) The value of both the companies on the basis of net

income approach.,

(2) The value of both the companies ocn the basis of net

operating income approach.
OR
2  Net operating income of company Japan Ltd. is 14

Rs. 6,30,000 while its total investment is Rs. 30,00,000. The
rate of equity capitalization is 12% when its capital structure
does not include debts. But the rate of equity capita]ization
is 12.5% when the company issues 9% debenture of
Rs. 8,00,000 in exchange of its equity shares and it is 14%
when it issues 10% debenture of RS. 14,00,000 in exchange
of 1ts equity shares. Compﬁte the cosf of _capital and market
value of the company under these situations according to

traditional approach..
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The following is the balance sheet of Amar Co. Ltd. as on 14

31st December 2010.
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Liabilities Rs. | Assets Rs.
 Share Capital Goodwill 10,000
7 ,QO_O equily shares Building (at cost
of Rs. 100 each 7,00,060 lesé depreciat.ion.) 1.00,000
General Reserve 1,60,500 | Plant and Machinery
6% Debentures 40,000 | (at cost less depreciation). 2,00.000
Bank loan Patents ,lIOO
(short term) 35,000 1 (less written off)
Sundry Créditofs : | 60,600 | Investments :
Unclatmed dividend 3,000 | Quoted (market value
Provision for taxation 7,000 | Rs. 15,000) 10,000
Unguoted 10,000
" Trade investments 20,000
Shares in subsidiary Co. 1,20.000
Stock-and stores 1,560,000
Caéh in hand and at bank 30,000
Sundry debtors 3,00,000 |
Bi'ﬂs_Rec_eivable ' 50,000
Preliminary expenses 5,400
10,05,500 10,05,500
11
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- Additional Information :

(1) The current replacement costs of building and plant and
machinery are Rs. 1,50,000 and Rs. 3,00,000 respectively.

(2) The value of shares in subsidiary Co is Rs. 1,50,000.

(3) The trade investments are valued at Rs. 25,000 unquoted
investments at Rs. 15,000 and quoted investments are

not related with normal activities of the company.

(49) 'The value of raw materials included in the figure of
stocks and stores has shown an increase of Rs. 50,000.
However, Rs. 10,000 worth stocks are obsolete and are

to be written off.

(5) The patents have a market value of Rs. 10,000 which
represent a conservative estimate of the price which can

be obtained if sold at present.
(6) The profit of the year is Rs. 1,50,000.

(7) If the depreciation is charged on the replacement cost
basis then it will be increased by Rs. 10,000 for building,
Rs. 15,000 for plant and machinery and Rs. 2,000 for
patents.

(8) The sales made in previous year were Rs. 1,00,000 in
which estimated profit is Rs. 11,000. This figure is
included in the profit given.

(£)] The profits on éompleted contract is Rs. 3,000. This
figure has been ignored while calculating the net profit.

(10 The amount of goodwﬂl written off during the'.year was
Rs. 2,000.

(1 1)- Income from qﬁoted investments of Rs. 1,000 has been

included in the profit of the year.
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(12) There was a loss on sale of assets of Rs. 500 which is
charged to profit and loss account of the year.
From the above mentioned information calculate
(@ Gross capital employed and net capital employed.

(b) Profit for management planning and control and

(¢ Return on capital employed
OR
3 (@ The following is the Profit and Loss Account of Ravi 10

Textiles Ltd. for the year ending 31st March, 2010.

Profit and Loss Account

Rs. Rs.
To Salaries 10,00.000 { By . Gross prbﬁt 35,00,000
To Advertisement - 3,00,000 | By profit on sale
To Printing and ' of previous year 50,000
-Stationery 20,000 | By Income from non-
To Rent 1,670,000 trading investments 30,000
To Legal expenses 1,40,000 | By surplus from foreign
To interest on exchange conversion 25,000
Bank Loan o 4,000
To Goodwill written off 13,000
To loss on sale of
Machinery 3,200
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To Depreciation

Plant and Ma(:hjnery 4,10,800 |

Furniture 30.000
Building ~1,00,000
To Net Profit 14,24,000
36,05,000 36,05,000

Additional Information :

(1)

@

3

(b)

4 (2
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Legal expenses includes Rs. 20,000 being expenses _of

exceptional nature.

It is now decided to compute capital employed on the
basis of replacement costs and for that purpose additicnal

depreciation of Rs. 1,90,000 is necessary.

Profit of Rs. 70,000 on completed contracts has not been

accounted for in the above profit.

Compute the net profit for the purpose of calculating
return on capital employed.

Write a note on capital employed.

From the following information, prepare a monthly
cash budget for 3 months ending on 31%% March.

(1) Revenue is accepted to be Rs. 1,80.000, 1,84,000
and 1,80,000 in three months respectively.

(2) Purchase for December, Jémuary, February and
Mazrch are likely to be 1,60,000, 1,20,000, 1,30,000
and 1,40,000 respectively. 40% is paid in next

| month.

10
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(3) Rent per month is Rs. 8,000 and personal
withdrawal Rs. 12,000

(4) Rs. 70,000 is accepted. to be outflow towards purchase

of vehicle in month of March.
. (3) Cash expense are Rs. 28,000 for each month.

- (6) Present cash balance 1s Rs. 30,000.

(b) Discuss the cash budget in detail. 4
OR
4  Explain the importance of cash budget in detail. 14
5  Discuss advantage and disadvantage of uniform costing. 14
OR

5  What 1s inter-firm comparison and discuss its purpose and 14

types in detail ?
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